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1. {2 points] Fstimate the average rate of change of f fxom z =1 toz = 4. Show your work
and simplify your answer. '
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2. |2 parts, 1 point each! Classify each function as linear, concave up, Or concave dewn Circle
one answer for each part.
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3. [3 parts, 1 point each] Susan and John need to travel from COlumbia, SC to Ch].cago, 11,
- a distance of about 800 miles. Susan begins driving at time ¢t = 0 hours. John begins driving
at time ¢ = 1.5 hours, and sets his cruise control to 68 miles per hour. When John begins

driving, Susan has already traveled 90 miles. Both Susan and John travel at constant speed
throughout the journey.

(a) Give a linear formula for Susan's chstance from Columbia at time ¢, for ¢ > 0.
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(b} Give alinear formula for Johm's distance from Columbia at time ¢, for ¢ > 1.5

w3 e, Coy)= 05,00 ok
s o) |y e R e

i

(B(x -15)

{(c) Wﬂl John pass Susan‘? If so, hew far away from Columbia will Jehn and Susan be when
John passes? Give units and show your work.
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